Name Date

Negative Exponents and the Laws of Exponents

Write each answer as a simplified expression that is equivalent to the given one.

1. 765437 =

2. Let f be anonzero number. f™* =

3. 671x287967! =

4. Leta, b benumbers (b # 0). ab™! =

1
5. Let g be anonzero number. — =
g
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1. Compute: 33 x32x3'x3°%x31x32=
Compute: 52 X 510 x 58 x 50 x 5710 x 578 —

Compute for a nonzero number, a: a™ xa"xa' xa™xa ™xal'xa® =
2. Without using (10), show directly that 17.67! & = 17.678.

3. Without using (10), show (prove) that for any whole number n and any positive numbery, y=! * = y™7,

875
=287

4. Show directly without using (13) that
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Write each answer as a simplified expression that is equivalent to the given one.
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2. Let f be anonzero number. f~* =—
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3. 671x28796 ' =671x

a
b

S| =

4. Leta, bbenumbers(b+0). ab'=a-

1
5. Let g be a nonzero number. F =g

1. Compute: 33 x32x31x3°%x31x32=33=27
Compute: 52 x 519 x 58 x 50 x 5710 x 58 = 52 = 25

Compute for a nonzero number, a: a™ xa"xa'xa™*xa™xa'xa’®=a’=1

2. Without using (10), show directly that 17.6° ! 8 = 17.678.
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17.6 76 By definition
_ 18 s xoxm 5
- 17.68 y y - yn ( )
_ 1
T 1768
=17.678 By definition

3. Without using (10), show (prove) that for any whole number n and any positive numbery, y! * =y™,

an_ 1M S
y = y By definition

1n s xoxm 5)
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y y b
1
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=y By definition
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4.  Show directly without using (13) that Y 2.8712,
287 8‘5><1 By th duct f la f lex fracti
= 4. by € product jormuia jor compilex jractions
2.87 2.87 yiep P
LISV By definiti
= i efinition
285" 2.87 y
1 By the product formula f lex fracti
=% .7 € product jormuia jor compilex jractions
2.85x2.87 yiep P
S By x* - xP = x**" (10)
- 2.85+7 y -
o 1
- 2.812
=2.812 By definition
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